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class class _name
L
private:
Type varl;
Type var2 ;
Public:
Type var3;
Type var4 ;
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1 #include <iostream:>
2 using namespace stdj
3
4 float const pi = 3.14 ;
5 class circle
6= {
7 private:
3 public:
= ! float radius ;
1a
11 circle ()
12 i
13 radius = 1@ j;
14 1
15
16 circle { float rr )
17 = i
18 radius = rr j;
19 1
2
21 float calc_areal)
22 i
23 return pi * radius * radius ;
24
25 1
26
27 float calc_circ()
28 [ i
29 return 2 % pi * radius j;
3@ 3
31 = 35
2
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33 int maln(int argc, char™ argy)

floaat crr

circle cl;
cout <¢ "Radius of circle is: " <¢ cl.radius <<endl ;
cout <¢ "Area of circle 1s: " < cl.calc area()«cendl ;

cout <¢ "Circumference of circle is: " ¢<¢ cl.cale circ()<<end] ;
cout 44 “*****************************“<<End1j

circle ¢ (3) ;
cout <¢ "Radius of circle 1s: " ¢¢ c2.radius <<endl ;
cout ¢¢ "Area of circle is: " < cl.calc area()«endl

cout ¢¢ "Circumference of circle is: " < c2.cale cire()¢<end] ;
cout 44 “*****************************“{<Eﬂd1j

cout <¢ "Enter Radius of circle: "

cn 3 err

circle 3 (crr)

cout ¢¢ "Radius of circle is: " < c3.radius <end] ;

cout ¢¢ "Area of circle is: " < c3.calc area()«endl

cout ¢¢ "Circumference of circle is: " < cd.cale cire()¢<end] ;

return @;

Sl o, P

Syl gylb



daiyabil) dolsd) — slos davsl>

bl ) 550 s — il k= bl o) i pud

;dﬁbﬂ\:iyi
1
11 circle ()
12
13 é radius = 18 ;
14 .
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2
16 circle { float rr )
17 {
18 ; radius = rr j;
19 ¥
26 H
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21
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float

i

return

calc_areal)
pi * radius * radius ;
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38

E float calc_circ()
i
return

¥

2 * pi * radius ;
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circle
cout
cout
cout
Ut

cl;
"Radius of circle is: " <¢ cl.radius «endl ;
"Area of circle is: " <¢ cl.calc area()¢<end] ;

"(ranference of circle is: " < cl.cale cire()<end] ;
“*****$$$$$$$$$$$$$$$$$$$$$$$$"<{Endlj
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circle
cout <«
cout ¢4
cout ¢4
cout <«

2(3)
"Radivs of circle 1s: " <¢ c2.radius <<endl ;
"Area of circle is: " <¢ c2.calc area()¢<end] ;

"(ircumference of circle 1s: " <« c2.calc circ()<<end] ;
“*****************************“<<End1j
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4 cout <¢ "Enter Radius of circle: " ;

% cnyerrg

51| circle o3 (err)

52 cout ¢ "Radius of circle is: " ¢¢ c3.radius <¢endl ;

53] cout <« "Area of circle 1s: " << c3.calc area()<cendl

5 | cout «« "Ciramference of circle st " «¢ c3.cale_cire()¢<end] ;
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